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| Semester B.C.A./B.H.M. Examination, May 2022
(NEP) (2021-22 and Onwards)
LANGUAGE SANSKRIT — |
Buddhacharitam — Il Canto, Grammar and Comprehenswn
Max. Marks : 60

Time : 2% Hours

Instructions : i) Answer in Sanskrit/Kannada/English.

i) Question Nos. I, VI and VIl should be answered in
Sanskrit only.
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Write the correct answer .
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Answer any one “of the following :
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Write an essay on date, place and works of the poet Ashwaghosha.
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Describe the incidents which cause the agitation of Siddhartha.
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Write short note; on any two of the followmg :

1) ARTHIH
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Explain with reference to context any two of the following :
1) STfe 0 gareaeg; |
2) feroma ey snwie |
3) 9= R wEar |
4) “h: U9 91 gd TS |
VI. wERaamEn 3qufur fered |
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4) 3feq 8) FA-d7 |
A1) Ut TR s -l =t forga | (asemarg v) (5x%1=5)
1) THY 5) Thel:
2) Tarfur 6) I
3) HH 7) A
4) SR, 8) furam |
VII. Treramt ufdean sreiferfEd sgamm S fored | (4x2=8)
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1) 7y o5 o areda ?

2) @l fek foh gt afe 7

3) UTH o Ffy Feif ?

4) TTHY YT A9 | et 7




